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The figures in the margin indicate full marks
for the questions.

Q. No. 1 carries 1 mark each Ix12 = 12
Q. No. 2 carries 4 marks each 4x4 = 16
Q. No. 3 carries 6 marks ' 6x1 = 6
Q. No. 4 carries 2 marks each 2x3 =- 6
Q. No. 5 carries 3 marks _ Ix1 = 3
Q. No. 6 (a & b) carries 8 marks 6+2.= . 8
Q. No. 7 carries 4 marks 4x1 = 4
Q. No. 8 carries 4 marks : 4x1 = 4
Q. No. 9 carries 4 marks 4x1 = 4
Q. No. 10 carries 3 marks 3x1 = 3
Q. No. 11 carries 6 marks 6x1 = 6
Q. No. 12 carries 3 marks 3xf = 3
Q. No. 13 carries 2 marks each 2x2 = 4
Q. No. 14 carries 1 mark each 1x3 = 3
Q. No. 15 carries 1 mark each _ 1x4 = 4
Q. No. 16 carries 2 marks each 2x2 = 4.
Q. No. 17 carries 10 marks 10x1 =" 10
| Total = 100
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1.  Answer each of the following questions by writing only the actual correct
word as directed : ‘ 1x12=12
ﬁt@wﬁwmﬁwﬁwmﬁmwwwms
(@) The ‘Raghuvamsam’ is a Kavya/Khandakavya/ Mahakavya.

(Choose the correct answer)
QRO G Y/ AGP /TIT | (w% Tea b Tfred)
(b) Write an equivalent word of ‘e
‘apaee’ =R @b efens Fidr
(c) The ‘Srimadbhagavadgita’ is based on the - of the
Maha bharata. (Fill in the blank)
‘AeERATel TSRS T GoFS S |
' (ifer 3% 799 7)
(d How many verses are there in the Second chapter of the
‘$rimadbhagavadgita’ ?
Sreraiiers S SRS R Gl SIR? -
(e) Write an epithet of H as you find in the ‘prescribed text of the

‘Srimadbhagavadgita’.
‘Agesaraers [ie TS i i Agaes @ wfsa a1 @

[2]



(/ What is the source book of the drama ‘Naganandam’ ?

‘e Ao Ted o7 [Fe

(30 Who is meant by ‘&fefgw:’ ?
‘Ffefem:’ I 1 roRr e
(h) Write a Sanskrit equivalent word of ' JreraTEe .

WrATET AR B WS Ao |

(1) * In which year was ‘The Assam Sanskrit Board’ established ?
T A A (I b AVt 31 L2

(i) Who was famous as ' HHfa:' ?
‘amyEnRfa:’ 3 W A etz

(k) Who. is the author of ‘W TR ?
“TENT THIATATHRN S A5 (I 2

() Bipin Chandra Goswami composed aehieIeaH /Faqfeeta |

(Choose the correct answer)

Riside (e Fatewe / Tanfeas oA SR |
(u% Ceweo) A5 Tfeedt)
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2.  Translate four of the folioﬁng taking one from each part :

wes fa oifetsl sk o «@fbee fE Y BIfAI Sgam 4 ¢

(a)

(b)

(©

(d)

Part 1 / 22% S
frord Tw = fean wfe=
fersahfareaTar RO a,

Sgehoa TR a1l

UREEaRR S ]
GEICIRIEEUS R
awﬂ‘aéar-aavnfﬁ@: |
qRIfEags Hagsia |l

Part 11 / faStw wie
et TR T WY AT |
o Teadded EEEIgS oy |
EORLeHEIRERISRIEE
Eﬁﬂﬁ!ﬁﬁ.ﬂﬁﬁﬂgaﬂhl

. qi?ﬁ:?ﬂﬁhﬁﬁﬁfﬁﬁgiﬁﬁ

32T SANS
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(e)

®

Part II1 / SO &ied

(HEH) U, ®Y gEnataE ? feiwys sfa sogseen fafdaste
TS ? % Faaeas | HUfaer @@ fyvredd fawdl steds 7w
T W@ Ta: 2 Ry g wRwife | (et aeafa) g

(W;@m)wwaﬁmﬂmww-
RARE0E HTerd 9o | (rE: ufaen) deet faswed | St gsafaemy )

Part IV / 59% @iedl

HEAU Heha-foeore 3 ot yafad W: | T Sremusiade yafm-
HEAI- TSI TSTre: ST | Ua Igfa: Sae Sehd-qeweny
wEafd | Bl |
syfre foarmems fufaasl depaufread 79 sR<uwasa
UG SEaIYE | AATGEE T fomm s TetT 5 dnaumEn: Sl
TEq FH HHaEAASUHY | FEE - aid- RNl SHh - 7
fafgan |

Explain with reference to the context any one of the following verses :

1+1+4=6

woTe SERe R @b) iR ePm-oTHe WeR Al o ¢

(h)
3

(a)
32T SANS

BRI TAE LTI E R
HEEHME: YYHT T
Heed diehr gEssia i
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(b) Wﬁmﬁﬁ-
TECHGRTI AR |
] it TR

g T A I

4. *(a) Account for the case-ending in ‘A&’ in Q. No. 2(s) and ‘T0q" in

Q. _No. 2(b). : . 1x2=2

ol WY 2(a)S A ‘g’ S o R 2(h)-S 3 ‘GUA’ oM 40
frefe @dfa =

() Derive ‘88 T:' in Q. No. 2(c) and 'g=81fH’ in Q. No. 2(d).

1x2=2

o) R 2(c)-S 4T HRH TH: ' S 2 AR 2(d)-© 4 ‘g=aIfi’ oM YbIR
- gesifes i

(¢ Name and expound the Samasa of * FFaareiay’ in Q. No. 2(a) and

‘grafrergr’ in Q. No. 2(b). | 1x2=2

opsy e 2(a)-S L * SR W% 2%l | 2(h)-S L yRIEST
*7 YOI APRARHE TR A Al

32T SANS [6]



5. Elucidate the idea contained in any one of the following : A
<o R @b s FRAHR B4 2
(@) <feAIsTE 7 R FWR Fed 5w
AT SRR g T 1 gafd il
(b) TSR STHRIASAS TH H |
frea: weva: wREEsEd g4 Ee: o
6. (a) Write after ’ér?madbhagavadgita B (éhapter-ll, the description of the
yoga of Selfless action (Niskama Karman). 6
‘Wﬁ%’aﬁawmwﬁmwmﬁﬁl
(b)) Write a short note on any one of the following : 2x1=2
were Rl Rz Gbre esiwe 5y (G ¢
TSI, AMEH:, YFeSE:, WA, Frar |

7.  Present the charming description of confluence of the Ganges and Yamuna
as you find in the 13th Canto of the ‘Raghuvarn$am’. 4
TR FEAMH A (AR «qTel 5% SR TR NG @fS AR 9691 Torzem
pall '

Or/<%1
Give the description of the pleasure lake of Satakarni.
s e PIel ARREE Ikl w1l |

32T SANS [7] Contd.



8.

10.

1.

‘gud FGeRRI ag#nma: Fa:’

— Who is the speaker here ? Why did the speaker say so ? Under what

circumstances the speaker make the above remark ? 1+1+2=4

— TS TG @ﬂa?a@iﬁsﬂmm@?a@ﬁ%ﬁﬁ%@ﬁmﬁ%ﬂ?

‘e | e fopets ArUSE T

— Who is the speaker here ? Whom did the speaker say so ? What was

the policy adopted to protect the serpents as referred to in the above

sentence ? , 1+1+2=4

_ 3T 3G (I ¢ ISIE IF GIRACE (I 2 TS T F41 WS AARIRS T
e B Teirm oRersw 91 (2w

Write a note on ' YSIgW4| ' metre, - 3

‘yergyaT’ wd 8oe it (Bl fordt |

Prepare a note on the contribution of Dr. Mukunda Madhava Sharma and
Acharya Manoranjan Shastri to the field of Sanskrit Studies in Assam. 6
TS FHT HER (RIS T° 3 e Wl SR SI5RG TAG AIE

esqe b mmaﬁn

32T SANS (8]



=12,

13.

14.

Fill in the blanks :, | | 3
ATl $iZ A= T4 ¢

Or/%re4r

Write the significance of the following line :

o AR el B ¢
‘wgaergy ft yuH Sema’ |

Explain with examples any two of the following : \ 2x2=4
©FR R gh SAiRRe TS il w4

Ayl g, TR W WET Ve, eI, HentERayan i
g |

Choose the correct words for any three of the following : 1x3=3

o Rz fofibr om xiw qife et
(@) T I IUSETT / GOSE |
(b) wo: 9 feged / fegafa

() wifer yui wefa / ARk

32TSANS = A _ Contd.



(d) gy wad / Tad T s | 2
e fgsi / fooma =i wfagoifa

(H e / it = TEfd |

15. - Account for case-ending any four of the following underlined words :
| 1x4=4
Cor il Rzt sifder v [l fiefw 3 ¢

(a) Ty e |
(b) wE: HCEE T |
() T YAF FEAM
@) -z fadfa e |
() =wifor g &<
(f) TEEES T A

16. Name and expound the Samasa in any two of the following :
(1+1)x2=4
o R Ko PR (e A« fovad 2

TECH, T, FEH, foree, feger, TREE:, FeETE: S |

32T SANS [10]



17. Write an essay (in simple Sanskrit) on any one of the following :

woR gt @b [REw e Fegoe Bl ford ¢
(@) HEIEEE:

(b) THETH

(c) S wEpla:

(d)  TH ST qEE

) WrfaFHe HEHaTIET: FESEEd |

32T SANS [11]
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